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Topic:- General Knowledge and Logical Knowledge

1) i
Complete the series choosing the missing letter/s: / ®[td AT AT & Telch{

AT I 9T I

K
P
I

H
L
l']

Z|H =

1.D
2. M
3.0

4. P

Correct Answer :-
e D

2) If TEACHER is coded VGCEJGT, then how is PROBLEM coded? / Ufé TEACHER & VGCEJGT d

Hifsd far 9ITaT 8, 9 PROBLEM &1 9 difsd fvar wmwm?
1. PTRDNGP
2. RTQDNGO
3. RTQENGO

4. RTPDNGP

Correct Answer :-

« RTQDNGO



How many numbers greater than 100 and less than 1000 be formed with the digits 9, 8, 7, 6, and 5 without

;petitiou%':’/&iﬁ% 8,7, 6, AUT 5 | foAT TRIGRT & 100 | 3P TUT 1000 W HH fha-t w=me fAfa

1.72
2.24
3. 120

4. 60

Correct Answer :-
e 60

4) Jatin starts walking towards the east. After moving a distance of 20 metres, he turns to his left and walks 15
metres. Then he turns to his right and moves 25 metres. Next he turns to the right again and walks 15 metres.
How far is Jatin from the starting point? /Wﬁqmaﬁ @?WWW% 20 1. aﬁ;ﬂmmﬁ%m,
98 9IS 3R S WI1aT 8 3R 15 1. TIadT 8 | 3P 916, I8 AU T3 3R ST 8 3 25 W), gaar 81 & a1g
9% v A 12 3R gav 15 1. Taa1 81 Sifee IRy e | fha-i gr 82

1. 75 metres / 75 Hiex
2. 25 metres / 25 HieX
3. 35 metres / 35 HieX

4. 45 metres / 45 1:1 X

Correct Answer :-

e 45 metres / 45 HIeX

5) Which one of the national park is NOT located in Madhya Pradesh? / frgiferd & 9 S ?T@'q COIG]

e YT H A1 72

1. Bannerghatta National Park / SaRGgT T@’q 3
2. Van Vihar National Park / d- ﬁ%ﬂ Wgrq 3l

3. Bandhavgarh National Park / a‘fm T@’q 3

4, Kanha National Park / hTgIl ?T@'q RG]

Correct Answer :-

o Bannerghatta National Park / aawg TI@H 3l

6) Which of the following states has a Legislative Council? / fFrifea d 9 foa wsu # fau= uiRue ﬁ\_{d
82



1. Uttar Pradesh / TR QX
2. Tamil Nadu / AT g

3. West Bengal / ufge &
4. Kerala / Q@

Correct Answer :-

« Uttar Pradesh / STR UCY

7) Veterinary Science University is located at / Jefe qrsd qﬁaﬁﬁ’r e R A fRuq %:
1. Seoni / Ry

2. Jabalpur / SI&clYR

3. Neemuch / 1

4, Mhow / Fg

Correct Answer :-

e Jabalpur / SIS¢TYR

8) When is the Indian Civil Service Day celebrated in India? / HRd o HRAH ANTR® '\ﬂaT ﬁﬂ'\q )
HATIT ST 82

1. 10 April / 10 318@
2. 215 April / 21 310
3. 15M April / 15 30

4. 11" April / 11 30

Correct Answer :-

o 215 April /21 30

9) What is the approximate length of ‘Chenani-Nashri Tunnel’? / “TT-ATRRY I G| 3I'ﬂ'FITfe|'H ?raTs‘
HE?

1.9 km /9 Tt

2. 13 km / 13 foit
3. 12 km /12 ot
4. 19 km/ 19 fooeit



Correct Answer :-

e 9km/9 fHHT

10) Who has been appointed the Chairman of the Internet and Mobile Association of India? /'&Tﬁ? Gﬁ'\"

mMarsd TR 31w 33U & e & wu o frd fgea o man @2
1. Shubho Ray / HI X

2. Umang Bedi / SHT 9cf

3. Rajan Anandan / TS 3{THcH

4. Deepak Kalra / U HICRI

Correct Answer :-

« Rajan Anandan / IJ1ST 3{THGA

11) The term ‘under-cutting’ is associated with / Rleq '3ER-PHIT m Tt %
1. Cricket / fohhe

2. Hockey / eﬁ

3. Football / peald
4. Tennis /

Correct Answer :-

* Hockey / Em

12) India’s longest river bridge, Dhola Sadia, has been renamed as the ./ HIRd BT qa9 a1 e
qd, S Afedr, o7 A9 JGad TG AT

1. Bhupen Hazarika Bridge / @?{ TR fort

2. Raman Deka Bridge / XH Sl foer

3. Gopinath Bordoloi Bridge / AT Srefen fost
4. Tarun Gogoi Bridge / d2Ul Th'rﬁé forer

Correct Answer :-

» Bhupen Hazarika Bridge / @t{ SSIRCIREE]

13) Who won the women's singles title at the Syed Modi International Badminton Championship 2017? /

Hug A TPt dsfiie AR 2017 # Afgen wowa o1 f@are few siar



1.LPV Sindhu/tﬂ_qpfﬁ.fﬂ

2. Jwala Gutta / Sdlell 7[&T

3. Ashwini Ponnappa / S ai e
4. Saina Nehwal / Il ﬁ%am

Correct Answer :-

« PV Sindhu /Ul 91 &Y

14) Who was the longest serving Chief Minister in India? / HRRd T Y W9 GUT 9P |al HI arel
e $iF &2

1. Jayalalithaa / SIadferdrn

2. Jyoti Basu / Sifd g

3. Chandrababu Naidu / IdTg ARG

4. Narendra Modi / % Gt

Correct Answer :-

» Jyoti Basu/ Sifd oy

15) The State Sport of Madhya Pradesh is ./ IS VORI BT IST PIST g
1. Sitoliya /Raiferan

2. Malkhamb / I

3. Kabbadi / ag!

4. Hockey / B'\I%ﬁof

Correct Answer :-

e Malkhamb / HWG™H

16) Abhinav Bharat’ was organized by / 3T YR =1 & gRT "fea fvar mar u1-
1. Khudiram Bose / w CIES|

2. Bhai Parmanand / “—ﬂgw

3. None of these / 3_'11?[ I ﬁ's‘ 7'%)[

4. Vir Savarkar / G gIaiaR

Correct Answer :-



« Vir Savarkar / G Il

17) The Dronacharya award in 2016 was awarded to which one of the following personalities? / Frafafaa

HfwTal § I f5a 2016 § Siomard REeR gRT GwT= fH5ar T ur?
1. P. Gopichand / t. Mg

2. Anil Kumble / 31d ol

3. Amir Khan / 3R @

4. Mahavir Singh Phogat / eIk R&ig wire

Correct Answer :-

e Mahavir Singh Phogat / II—Eﬂ?ﬁT ﬁf@' BN

18) Name the first female Speaker of Lok Sabha? / ABIHT BT tlBﬁT 'FI'%?IT S BT ATH HT %?
1. Sumitra Mahajan / ﬁ&ﬁﬂ HelslH

2. Indira Gandhi / §fe=T TTeft

3. Sushma Swaraj / UHT TR

4. Meira Kumar / §RT PHR

Correct Answer :-

« Meira Kumar / HRT PHR

19) Geographically, Madhya Pradesh is the largest state in the country. / yrnfers =u ﬁ, e U=
S B o TSI B

1. Third / THRT
2. Second / gHRI
3. Fourth / YT

4. Eight / 314l

Correct Answer :-

e Second / g8

20) Complete the series choosing the missing number: / T IBAT GADHR AT B GRT DITOIT:
1,236,918, , 54

1. 36



2.27
3. 18

4,48

Correct Answer :-

o 27

21) Complete the series choosing the missing number: / & TBAT FAD YWAT Bt GRT HIOIC:
3,6,18,72,

1. 216

2.360

3. 288

4. 144

Correct Answer :-

* 360

22) Complete the series choosing the missing number: / T IBAT GADR AT B GRT DITOIT:
4,59, 18, 34,

1. 50

2.49

3.43

4. 59

Correct Answer :-

23) Select the option that is true about the Statements and Conclusions given:

Statements:
Some thieves are robbers
All burglars are robbers

Conclusions:
I. Some burglars are thieves
I1. Some robbers are thieves



/ 39 fareu &1 99 Fifoe e few e sy=T 3k el & IR A 98t 8:
PY:

FoIRTTE

T SR SE §

e

I PO JUUR AR &

IL$S P AR &

1. only conclusion Il follows / Had 5B || WW%

2. only conclusion | follows / FHad (TspY | HENTUTWT%
3. neither conclusion | nor conclusion Il follows /qﬁﬁ'ﬁv_ﬁfl GﬁTqaﬁ"%—ﬁ Il G@TUTW%
4. both conclusion | and Il follows /ﬁ'ﬁb_ﬁfl 3Rl Eﬁ:ﬁ WW%

Correct Answer :-

 only conclusion Il follows / Wﬁ'@?ﬁll G@TUTWT%

24) Who is popularly known as 'Little Master’ ? / 'fofed Aey & W 4 Al &:
1. Sunil Gavaskar / WW

2. Mohinder Amarnath / AIfgaR 3MRATY

3. Kapil Dev / ®Ud ¢a

4. Gundappa Vishwanath / T[St fayT

Correct Answer :-

« Sunil Gavaskar / grildl TTa¥eh

25) Find the odd one out: / T& fauw F1a Hiforg:
3,0,528,4,9,6

1.0

2.5

3.9

4.8

Correct Answer :-

« 8



26) Choose the number which is different from others in the group: / 39 TS T TUH B Il TYE
A A =3

43,53,63,73
1. 63
2.73
3.53

4. 43

Correct Answer :-

e 63

27) Which movie has been screened for the longest span of time in a theatre? / fideI d 9a9
i Iwg erafy & fore P9 fben uelRia £ 1€ 82

1. Dilwale Dulhania Le Jaayenge / faeara ﬁﬁtf[ GASIEE

2. Kuch Kuch Hota Hai / $ $3 8T 8
3. Kal HoNaHo/Wﬁ:ﬂfﬁ

4. Lagaan / <7

Correct Answer :-

« Dilwale Dulhania Le Jaayenge / fa@arct Qﬁl?‘lm o ST

28) The series given below contains a sequence of numbers. Identify the incorrect combination:

/ R & graen ¥, Femsl #1 v HH SUFRG T Tod HaeT ugan:
0, 2, 6, 12, 20, 30, 44

1.0

2.20

3. 44

4.12

Correct Answer :-

29) The series given below contains a sequence of numbers. Identify the incorrect combination:

/ & e §, Gl 1 e HH IuRT ¥ Tard SIS ygane:



6, 14, 30, 64, 126
1.6

2. 14

3. 126

4. 64

Correct Answer :-

.« 64

30) If GREATNESS is coded HQFZUMFRT, then how is GOODNESS coded? / Gfé¢ GREATNESS &\
HQFZUMFRT ®\f&d fur Sirar 8, @ GOODNESS &) &8 Hifsa forar wmam?

1. JMOERTS
2. FZHQFRT
3. HNPCODTR

4. MOQDPES

Correct Answer :-

e HNPCODTR

31) If CANCELSis coded CLECNAS, then how is FASHION coded? ? | Gfé CANCELS &' CLECNAS
T Pifed 5 SITa1 8, 9 FASHION &) A Hifsd fHar smam?

1. FOIHSAN
2. FOISHAN
3. FIOHSAN

4. FIOSAHN

Correct Answer :-

¢ FOIHSAN

32) In throwing of two dice, the probability of getting an even sum is / 3-1 i U HIY e R, ﬁ H M I
R &1 O 9 g1 &) wikear R 3

1

1 B



(R

2.
1
3
3.
4
6
4,
Correct Answer :-
£ 3
2

33) In a certain code /i eb eep means roses are blue, kis eeh means red flowers and eep tim eeh
means flowers are vegetables.
Then how is vegetables are red flowers coded?

JAE RTINS PIS UTHT fr', li eb eep 1 3 roses are blue; kis eeh 1 3 red flowers auT eep tim eeh
&1 A flowers are Vegetablesﬁ'dT %I

@ vegetables are red flowers & $1 HIfed forar Sem?
1. li kis tim eeh

2. tim eeh li eep

3. kis eep eb hee

4. eep kis tim eeh

Correct Answer :-

* eep kis tim eeh

34) In a certain code language, ib ein eip means These great actors, ein tab kil means These fine
songs, and eip kil Jot means Her great songs. Which is the word for actors in that code
language? /Udh ©WH IS YT ff, ib ein eip 1 3 These great actors; ein tab kil &1 3 These
fine songs Yl eip kil lot 1 3 Her great songsﬁ?lT Bl ELl PIS U | actors & fore 5 =g &1

ST fHaT T 82
1. eip

2.ib

3. ein

4. kil

Correct Answer :-



35) 104th Session of the Indian Science Congress was held in / YR A3 S &7 1047 w3
T 3raifora geim ATl

1. Mysore / ﬁﬁ?

2. Jabalpur / SIdelyR
3. Tirupati / fa==afd

4. New Delhi / 8 faweit

Correct Answer :-

e Tirupati / foeafa

36) Who is the National Security Advisor of India? / HRd $T ITH Y& AAGHR B o2
1. Amitabh Kant / 3{THdTH &id

2. S Jaishankar / T8 SIORHR

3. Pradeep Kumar Sinha / W10 AR gl
4. Ajit Kumar Doval / 3fSiid PHR siad

Correct Answer :-

¢ Ajit Kumar Doval / 3fSitd PHR Siad

37) Select the option that is true about the Statements and Conclusions given:

Statements:
All teasers are puzzles
All puzzles are ticklers

Conclusions:
I. All teasers are ticklers
II. All ticklers are teasers

| 39 fareu &1 99+ S siifer few e SU=T 3k fAswul & IR A I8t @:
DY:
Tt FoR o §

a1t uoe e @

e



L 9 feR feper &
11 9t RperR AR &

1. only conclusion Il follows / FHad fshy || S{FHRUT pdl

2. only conclusion | follows / aﬁaﬁ'ﬁ@b—ﬁfl \H‘}HTUTWT%

3. neither conclusion | nor conclusion Il follows /:réﬁﬁwmﬂ eﬁ?ﬂeﬁﬁmﬂf Il &waﬂﬁ%
4, both conclusion | and Il follows /ﬁEb_Efl 33? Il T:ﬁ:ﬁ WW%

Correct Answer :-

« only conclusion | follows / FHad sy | &wm%

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some stones are buns
All stones are clocks

Conclusions:
I. Some buns are clocks
I1. Some clocks are buns

/ 39 faoeu &1 99 Fifore ifes 3w e Y= 3k fAepuf & IR & 981 8:
DY-:

PO U UG &

It R gt §

e
I. $O UG uSt &
II. $ TSI U9 §

1. only conclusion Il follows / Had B || WW%

2. only conclusion | follows / FHad (TspY | WW%

3. neither conclusion | nor conclusion Il follows /:réﬁﬁwmﬂ \’:ﬁ?:faﬁ"%_ﬁ Il G@TUTW%
4. both conclusion | and Il follows /ﬁ'ﬁb_ﬁfl 3Rl ﬁ&aﬂwaﬂﬁ%

Correct Answer :-

¢ both conclusion | and Il follows /ﬁ'wv_ﬁfl \’ﬁ? Il Eﬁ:ﬁ G@TUTW%

39) Bhimbetka caves are famous for its / HIHSE®T '{IWI'E 3'\‘@5 ﬁl'l'{ m %.I
1. Tiger parks / CISTR sica



2. Cave art / T[] cdl
3. Rock paintings / BRAEE]

4. Sculptures / 111%&11

Correct Answer :-

» Rock paintings / BRAEE]

40)

Select the option that is true about the Statements and Conclusions given:

Statements:
All chalks are boroughs
Some boroughs are cameras

Conclusions:
I. Some boroughs are chalks
I1I. Some cameras are chalks

/ 39 fapeu &1 9= P Sife few e Hy=T 3R fAaewul & IR # I8l &:
DY-:

Tt afe a1 &

O T P

s

L3O R AP &

II. $O T AP §

1. only conclusion Il follows / Wﬁ'@b—ﬁll &WW%

2. only conclusion | follows / FHad sy | &wm%

3. neither conclusion I nor conclusion Il follows /:Té)[ﬁﬁb_ﬁfl eﬁwﬁfﬁw&f Il leﬁb_{ﬁ%

4. both conclusion | and Il follows /ﬁWﬁfl GaT Il ?ﬂ:ﬁ &WW%

Correct Answer :-

« only conclusion | follows / Fad f5HY | TRV FHRT §

Topic:- Mental Ability and Mental Aptitude

1)



If the following two squares shown below overlap, which one of the following options

is formed? / afg @F g1 @97 sfdcafa g1 & o B & § &=lF a1 v& Aeeq =1 87

'\.\'\. '
iy

S

e ,[

4.

2) A square floor of dimension 12 m x 12 m is to be covered by planks of 2 m x 4 m
dimension. How many such planks will be needed to cover the floor? / 12 Hiel x 12
Hiey A & daleR BT & 2 Hiet x 4 Hie & d&dl & eoricd A = g1 L #
Hreslied & & v O fhder dedl  maeaedr gefr



2. 12
3. 18

4.20

Correct Answer :-

18

3) )
In the sequence shown below, which figure comes next? / #ire T¢3 T3 &H #, 3Tl

G BT A 3

I VAN

| u m v

A\

A

\Y

[ ]

4.

Correct Answer :-



4)

=
=3
&
s,
o5
7]
g
o
z
=
]
=
4
&
=
L |
1]
a
L | e
(%
Lh | L
|
£
S
4
g

4.

Correct Answer :-

43
55
5 : _ _ _ 7 11 13
Find the fractions [with denominators 336] which are equal to 37 and 36
Arrange them in an ascending order. / f&=aT & T &Y (336 5 & @) =1 & %, 1—1

m%a;wﬁsﬁiam@rﬁﬁmﬁmﬁl

% i 7

5 218
1.

T g

8 56 "2i



3.

4. None of the above / STRIGd H I qo\|£=|6°r

Correct Answer :-

6) Out of the Rs. 642 he had at the beginning of the day, Tilak has spent Rs. 234 on buying books and Rs.
162 on stationery. How much money did he spend on food, if he had Rs.100 left at the end of the day?/ ﬁ:f &
TR H fade & U 642 TUA A ORI A 3T 234 TU4) ) Eas! o) @il § @ forar ik 162
Mﬁmwaﬁml g i3 & 3id # IHS U 100 $UA T4 § df S WioH W fova-it
gr.‘.RTﬁT 9

1. Rs. 200/ 200 ST
2. Rs. 164/ 164 3T
3.Rs. 116/ 116 S0

4. Rs. 146 / 146 308

Correct Answer :-

« Rs. 146/ 146 30

7) A man left for city A to city B at 9:00 a.m. He traveled at the speed of 80 kmph. If the total distance from
city A to city B is 380 km, then at what time did he reach city B? / ¥h Y=Y qE¥ A UG BFH m UTd:
9.00 Tt frmerar 31 98 80 it ufay HeT &1 arer | U= Ha1 81 afe BT A A WX B It A g3l 380
ot 3, O 98 Pa IHa AR B W ugEaT 32

1. 1.30 p.m.
2.2.00 p.m.
3.2.15 p.m.

4. 1.45 p.m.

Correct Answer :-

8) After replacing an old member with a new one, it was found that the average age of five members of a
club is the same as it was three years ago. What is the difference between the ages of the new member and



the replaced one?/gﬂﬁwaﬁwﬁuﬁvnﬁamﬁw,wmm%ﬁiwa?maaﬁaﬂ
ﬁaﬁaﬂammgwaﬂﬁwﬁﬁwﬁﬁqaﬁwﬁ?ﬁlwmeﬁ?mW$m$
T 3R HT 5?2

1. 20 years / 20 1
2. 15 years /15 1
3.2vyears /2 G

4. 5 years /ST:ITSf

Correct Answer :-

« 15years / 1534

9) Total of the ages of A, B and C at present is 90 years. Ten years ago, the ratio of their ages was 1: 2: 3.

What is the age of C at present?/ﬂ?&l’ﬁﬁA,B&ﬁ'\’Cﬂﬂﬁéﬂg%ﬁ%l 1oatfu3ﬁ,a=|ﬁang$r
ST 1: 2: 3 4TI T H C DI AT AT E?

1. 40
2.25
3. 60

4. 30

Correct Answer :-

10) Value of 3550 / 0.05 is: / 3550 / 0.55 T HT &:
1. 72100
2. 71100
3. 75500

4. 71000

Correct Answer :-
e« 71000

11) If 21 sheep consume fodder as much as 22 cows do; then, how many sheep will eat as much fodder as

132 cows? / Tfe 21 VT I § AR B} WU B! @ o141 fp 22 g Ht €; 99 fpa ¥ Ia4 IR &1
@R 1T 7 132 T @ e &1

1. 143



2. 126
3. 66

4. 134

Correct Answer :-

« 126

12) 3 times the age of Seema is 11 times the age of Reema. After 15 years, the ages of Reema and Seema will
be in the Ratio of 1:3. Find the present age of Reema. / Har ST BT 3 T, R | ST HT 11 AT 2115
af ggTa, a1 o= War Ft 3y H1 3gUTd 1:3 TN HHT B adHE MY 719 B

1. 50
2.55
3.45

4. 60

Correct Answer :-

13) In a cricket club of 16 players, 12 players can do batting, and 7 players can do bowling. How many all

rounders are there in the club? /WWW% 16 Wﬁﬁ, 12 %ﬁl@ﬁaﬁmﬁ’rw Tqbd % 3R
7 faTSt Hearsh w3 g@d €1 709 § frar agga e @ifa I6sd) 82

1.4
2.2
3.7

4.3

Correct Answer :-

14) The sum of the product of largest 4-digit and smallest 5-digit number and 100 is: / 4 P ma@ﬁ

TR 3R 5 SPTT a4 DI H&AT & UG 3R 100 BT T FIT 32
1. 99900000

2. 9990000

3. 9999100

4. 99990100



Correct Answer :-

* 99990100

__.'. III| A \
/\ /\
t{__.ll a'lf “ | ?
H i w

16) If 4/5 of a metre cloth costs Rs. 12, what will be the cost of 3/5 of a metre? / Afq 4/5 HieX HUS BT e

12 303 g 41 3/5 Wiex FUS &1 g fpa-m ghm?



1. 16
2. 18
3. 15

4.9

Correct Answer :-

«9

17) Ten years ago, P was half of Q in age. If the ratio of their present ages is 3:4, what will be the total of

theirpresentages?/lﬂaﬁmP,Qaﬁéﬂga‘ﬂGﬂﬂTml ﬁmﬁaﬁnmmwu%aﬁmﬁ
AT TG BT IR T GR?

1.34
2.45
3.25

4.35

Correct Answer :-

18) Ten men earn Rs.200 each per day. Find the average money earned per day by the 10 men when the

money earned per day is doubled for everyone. / 10 Wuﬁlﬁq 200 mmﬂﬁ%l 10 WW
e fam srffa o= =1 o1 Sita 9ma o3, wrafes ufafes sifvfa emmifRy waft & forg gt 21

1. Rs.440 / 440 390
2. Rs.450 / 450 ST
3. Rs.400 / 400 ST

4, Rs.390 /390 3T

Correct Answer :-
¢ Rs.400 /400 0T

19) The speed of a train is 54 kmph excluding its halting time. If we include its halts, and the

speed is 45 kmph, then for how many minutes does the train stop per hour? / fasmr wvg =t
BIe®H? ¥d B T1a 54 fHt ufar ver 81 afe 70 s [yt &) it swa § iR a1a 45 5 ufa ver @

o ufe deT fraq firde Ya Todl 82
1. 11 min/ 11 fAFC
2. 5 mins /5 ffFe



3. 10 min/ 10 fiAe
4.9 min/ 9 fiF e

Correct Answer :-

e 10min/10f&Fe

20) How many kilograms of dry fruit can be obtained from 170 kg of fresh fruit, when fresh fruit
contain 70 % water, and the dry ones 15 % water? / 170 f&uT aret wa & fra= foeun @ T YTl
f5d I Tod € SIafP a9 B A 70% U @ 3R g@ wal | 15% Ul gl

1. 60 kg / 60 fapdT
2. 50 kg / 50 fopur
3. 70 kg / 70 fopum

4. 100 kg / 100 foam

Correct Answer :-

« 60 kg / 60 f3m

21) A and B can do a piece of work in 30 days, while B and C can do the same in 24 days and C

and A in 20 days. They all work together for 12 days when A and B decide to leave. How many

more days will C take to complete the work? / A 3R B T& &1 &) 30 fa-7 #f [31 %% g&d g, Saf® B

3R € 3A 24 3T ¥ [T B Tpa §, T4 € 3R A I 20 fof & 1 % 9a &1 3 it vpary 12 &Y

gﬁwmﬁﬁmmAsﬁ? B ®1d &1 B1s ¢d &1 AW &1 &) JHTW $H1 & fore ¢ o) fram ez faa
?

Sgda}rs / sg GG

1 1
8-days / 8- fe=
7 g 7

Sida}rs / siﬁ—rr
3 A0 7

Szda}rs pips fea
. 7 1,

Correct Answer :-



S;days / séﬁ—rr

22) Sunil started a business investing Rs. 5,000. After three months, Anil joined him with a
capital of Rs. 8,000. At the end of the year, they made a profit of Rs. 7,700. What should Anil's
share be in it? / a0 A 5,000 ¥4 HT 4= B T AqATd YR fHar1 1 711 U4, 8,000 ¥0d
D1 Yot & ATY Sifa I A g1 7411 96 F 3 |, ITFIA 7,700 FUA BT ATY HURT| SHH d BT
fowan @ g Tnfgee

1. Rs. 3,300 / 3,300 ¥TY
2. Rs. 4,200 / 4,200 T3
3.Rs. 3,500 / 3,500 ¥U

4. Rs. 4,400 / 4,400 30T

Correct Answer :-
« Rs. 4,200 /4,200 3UY

23) A dealer will get Rs. 470 more if, instead of selling a table at a loss of 10 %, it is sold at a
gain of 10 %. Find the cost price of the table. / T® faar 470 U 3if¥e yTwd 3, afe A &1
10% B W T & RIMH W IF 10% F A1H W 3971 9141 3 | A BT 559 Yo J1d He |

1. Rs. 4350
2. Rs. 2350
3. Rs. 1350

4. Rs. 3350

Correct Answer :-

¢ Rs.2350

24) If the largest 3 digit number is subtracted from smallest 5 digit number, then the balance

is: / T 3 BT AT TS T1AT 1 5 P FIA B TN A YT o1l &, ot A9 &
1. 9,001

2.1

3.901

4. 9,000

Correct Answer :-



* 9,001

25) A team has won 14 matches and lost 4 of them. If these matches represent 60 % of the
total number of matches to be played, how many more matches should the team win, in order to

have a record of 70 % win? / T® &d A 14 39 oiid 3R 4 gR | Tl A A9 W A Fa &4 BT 60%
wefRfd #3d § @ ad &) 3R foraq siftre A Sfian w1fee R f% 700 Sfta &1 R&Ts 8 w2

1.4
2.6
3.7

4.5

Correct Answer :-

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? / a ﬁ'a' ™

IR Udl 4 ¥ 1 fad T vd & S THE B 91 TS 81 92

Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(i) Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(i) Dr. Axel
Falkenstr. 5,

Georgsmarienhutte, 49124

(iii) Dr. Axel
Falkenxtr. 5,

Georgsmarienhutte, 49124



(iv) Dr. Axel
Falkenstr. 5,
Georgsmarienhutte, 49124

1. iii

27) Find the average. / 3Nua fAefer |
69,72, 75,78, 81 & 87

1. 77

2.76

3.75

4.71

Correct Answer :-
o 77

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

92 & 7 e §, ararRY iR Tl &1 v wH FAfRd €1 Tad Saie ygHne:
i.ttijk3102Kjitt

ii.ttijk3102kjitt

ii.ttijk3102kjitt

iv.ttijk3102Kjiit

1. iii

2.1v

3. ii

4.i

Correct Answer :-



29) A train of length 140 m running at a speed of 30 m/s crosses another train of length 160 m
running in opposite direction in 6 sec. Find the speed of the other train. / 140 Hex mré Ry
Ya it f& 30 Hiex/AHvs o 91 | 79 W61 7, TP 34 faudia fezm & aa ) 160 Hex wwt gudt Yo &t
6 AHUS T UR Hdl 31 GO ¥ B A1 DI 719 De

1. 30 m/s
2. 10 m/s
3.40 m/s

4, 20 m/s

Correct Answer :-
e 20m/s

30) A student multiplied a number by 3/5 instead of 5/3. What is the percentage error in the

calcglation? / T faendf A ve G=n &1 5/3 & ™M W 3/5 F Yo &2 f&ar 1 A gfe &1 ufowra
T 8?

1. 34%
2. 44%
3. 54%

4. 64%

Correct Answer :-

* 64%

Topic:- Science and Simple Arithmetic

Findthesqua_renf(i-%}_ ! (i-gj &1 37 ATT FL|

X

z 2
x &y
u + 1
16y2  x®
1.
x® 4‘;1:2
16y° @
2.
z z
X 4y
—-1

16y x°®



2 4‘2
L

2 2
4, 187 %

Correct Answer :-

i
¥ ¢
16y x*

2) Ifx=(£}‘5 X (E,;)iﬂlmﬂlevalueafxfis:f ?J‘ﬁtx=(£)'5 X (;}3% ar x% & J gEIT

"
1.

(P

2.

3

3.
( 3)413
4, 5
Correct Answer :-

P

3)
In the given figure, 1 | m and t is the transversal. Find the value of 'x'. / U 710 &= #,

[|m 3R t 3T9Ed g1 'x' & Al AT |

1. 38

2.25

3. 15



4.32

Correct Answer :-

e 25

4)
In the given figure, 'O is the center of a circle. If ~AOB = 60" and ~BDC = 105", then .DBC=___ ./ TgU a0 &= &

dcd &I dhew 'O’ g1 TG LAOB = 60" 3R £BDC=105"§, dT«DBC=___|

o
2.45

o
3.55

o
4.35

Correct Answer :-

5)
In a trapezium ABCD_AB | DC and £B=120°. H £D = gnféli then the measure of £A = .| Th THed ABCD

#, AB | DCAAT/B=120" §1 AfE 4D, £B&H > &l 2A &1 #1 g

o

1. 85
2.95°
(o]
3.100
4.80°

Correct Answer :-



The pie chart represents the expenditure of a person on differentitems. The central angle of each sectoris
given in the figure. Study the pie chart and find the percentage expenditure on food. / ‘:I'Ié o Teh

cafed ganr fafies avgsll W e o o oo 1 fAwfg a=ar g1 o7 3§ 93
Beg@s &7 Feag S0 Ear 741 81 915 T &7 3T B 3R #ed | & anr
arel &g &l 9iderd Ad #i|

NEgod / st
Bpent/ AT
Clothing / @951

Education / T9T&T

M pizcellaneous / T@Taer
1. 45%
2. 40%
3.32%

4. 34%

Correct Answer :-

e 40%

7) Find the least number which must be added to 3158 to make it a perfect square. / 98 ~J-dH J&IT JATd
PO oY 3158 H YUl 7 g9 & fore Iww ISt o+t =Rl

1.22
2. 87
3.45

4.91

Correct Answer :-

8) An article was sold at a gain of 14%. Had it been sold for Rs. 270 more, the gain would have been 20%.
The cost price of the article is: / Th 9 14% a?ﬂTﬂqTa’tﬁTﬁl qﬁ‘qﬁ»’ 270 Y mﬂﬁﬁﬁﬁ?ﬂ, GIRSIEY]
20% BYdT| 9¥g BT TN Ted &

1. Rs. 3200/3200 30



2. Rs. 4500 / 4500 3UT
3. Rs. 4800 / 4800 3T

4. Rs. 3900 / 3900 TUY

Correct Answer :-

« Rs. 4500 /4500 398

9) Most botanical gardens also have banks for: / ST a-Teufa ST & Uy 5_'1%? Wt 3 %
1. Manure and fertilizers / @T¢ 3R IR

2. Agricultural implements /Epﬁ GﬁGﬂ'\’

3. Seeds / Slol

4. Manures / 9l

Correct Answer :-

. Seeds/ SISl

10) If the diagonal of a rhombus is 160cm and its side is 82cm, then the measure of the other diagonal is: /

gfe T quagys &1 fasvf 160 It B MR 3P Yor 82 A B, ) g fawof 1 wma ghm:
1. 36 cm /36 GHT.
2.24 cm /24 9.
3. 42 cm /42 9.

4,18 cm/ 18 THI.

Correct Answer :-

« 36 cm/36 94

11) The surface area (in cmz) of a cube whose edge is 1.3cm is: / Th Y BT Yt &hw (an I, ﬁ) =
g st R 1.3 9. §:

1. 18.8
2.12.18
3.10.14

4.214

Correct Answer :-



« 10.14

12) The present population of a village is 10000. If it increases at the rate of 5% per annum, then its
population after 2 years will be: / T TIid @} THT SHIBAT 10000 8 | TfE TG 5% P a1fifer g3 A Tt 8, al 2
TY q1E TP STTHST FII:

1. 12100
2. 12250
3. 11025

4. 11750

Correct Answer :-

« 11025

13) A flooring tile has the shape of a parallelogram whose base is 36cm and its corresponding height is
24cm. How many such tiles would be required to cover a floor of area 5616 m2? / U Rl Bt CESKEd]

SATHR AR TgUS FHT 8 RIPT MUR 36 A, B MR 39D T FHTg 24 T, 81 5616 T .
ATFd P B B P P foru fraq el Bt smazgddar gRi?

1. 50000
2. 65000
3. 45000

4. 60000

Correct Answer :-

* 65000

14) Three numbers are in the ratio 1 : 2 : 3. If the sum of their cubes is 972, then the largest of the three
numbers is: / T BT 1 : 2 : 3 F Furd A § 1 afe 377% T BT ART 972 B, <t i1 Temei & v 9t wen
ghft:

1.8
2.6
3.7

4.9

Correct Answer :-



15) A number consists of two digits whose sum is 6. If 18 is added to the number, its digits
are reversed, then the tens digit of the original number is : / U LiEC! || Eﬁ 3P| BT gL %
r®T 9T 6 31 Tfe 39 =T A 18 SST W11 &, df 9P 3P IhiAd 81 oId 8, af

1.3
2.8
3.4

4.2

Correct Answer :-

16) Find the dividend if the divisor, quotient and the remainder are (7x - 4), (2x + 3) and -7,
respectively. / Tf¢ HTSTH, HRTHE YT ATBH HHRT: (7x - 4), (2x + 3) YT -7 §, O HTST
RIGK2d

1. 14x% - 15x — 19
2. 14x2+ 13x — 19
3. 14x%- 13x— 19

4. 14x% + 15x - 19
Correct Answer :-
o 14x>+13x-19

17) Which one of the following has a long-term effect on the health of an individual? / Y fed & WA

R 7y & frweT e fere yHma giar o2
1. Common cold / ITHTY 9MTH

2. Kidney ailment / g T

3. Chicken pox / B dTH

4, Cholera / %\_Eﬂ

Correct Answer :-

» Kidney ailment / dd AT



18) Which of the following is NOT a part of light microscope? / =1 9 9 i 91 yeTiRIe R‘l&ﬂ?ﬂﬁ DT
e 82

1. Object holder / d¥] E?I@T
2. Light source / YhIRI b1 |
3. Two lenses / &l A=

4. Hand lens /%%’ @F\q

Correct Answer :-

e Hand lens/ %%’ ag

19) Which of the following cells are renewed every 120 days? / fEad s @ ﬂ'ﬁm TP 120 fe1
# A g ol 82

1. Red blood cells / AT Y& HIOTHTY

2. White blood cells / ¥dd Yad BHIUHTY

3. Platelets / ¢TY U@WI'Q

4, Blood / Y&

Correct Answer :-

« Red blood cells / ATd Iad HIVHTT

20) To keep our eyes fit, our diet should include: / S ST B W @ F ﬁI'E, Bﬁ STgIR | 3@
wftfera s T1fe:

1. Vitamin D / faeTfi &1
2. Vitamin K / [dei®_ &
3. Vitamin C / faerfi= 4@t
4. Vitamin A / fae1fe= 1Y

Correct Answer :-

« Vitamin A / TdefA T

21) Thousands of mirrors or curved metals are used to focus solar energy to a small point to make it very

hot. This happens in: /ﬁ?ﬁfﬁﬂ%ﬁﬂﬁ%@@@%ﬁgwmmmﬁ ‘d'l'ﬁ\ﬁ%
ST §RT Sisd foran Siram 81 98 399 giar 6:

1. Solar furnace / TR '1-@)[
2. Solar heater / IR Bicx



3. Solar cells / IR I
4. Solar battery / IR S

Correct Answer :-

« Solar furnace / R 'J-Igcf

22) Mark the odd one out. / fauH Cal ﬁﬂ%ﬂ a”ﬂﬁﬂ!l
1. Seahorse / ﬂﬂﬂ@?ﬂ

2. Flying fish / GRS HSC!

3. Jelly fish / ST

4. Rohu /g

Correct Answer :-

« Jelly fish / STGITRT

23) At the tip of root and shoot, the tissue present is: / SIS 3R IR-']? & 2 R IufRa FHaw %
1. Ground tissue / HRU[-$Hdh

2. Epidermal tissue / il SHaw

3. Meristematic tissue / [AHSAIA® SHd®

4. Vascular tissue / GT%W SHdd

Correct Answer :-

« Meristematic tissue / fAHSId® Hdb

24) The instrument used to measure the current flowing through a circuit is called ./ aiuy ﬁ tﬂw

TERAEH A URT S A A YGaA R aTA T B peT T gl
1. Galvanometer / TTed-IHIeR

2. Voltammeter / AIceFHIC

3. Voltmeter / AiceHIeR

4, Ammeter / Qz“a?

Correct Answer :-

o Ammeter/ QIHEQ



25) Two of the components of ecosystem mentioned below are abiotic. Identify them. / EiE]

Sfeaf@a ufRufaest 4 & <t ges arefidia €1 32 ugane

Inorganic nutrients, herbivores, decomposers, climatic factors, forests / 3roig qye dd, Yﬂib‘lﬁm,
ATUCHRY, TAAd PR, a7

1. Decomposers and inorganic nutrients / TICHRI 3R 3id U ded
2. Decomposers and climatic factors / 3MTHCHRI 3R Sdrdd! HRH
3. Inorganic nutrients and forests / 3/5/d QY& dd 3R 9

4. Climatic factors and inorganic nutrients / STaTd! HR& 3R 3oid TNH I

Correct Answer :-

« Climatic factors and inorganic nutrients / STAaRId! HR 3R 3o TN ded

26) Iron when red hot reacts with steam to form: / dTd T fRyfa ﬁ, ?ﬁg ar~g & 91y gfafspar &1 qg
CEIGIHEH

1. Iron hydroxide and hydrogen gas / G&T STSSTRITZS 3R EIESIoH 119

2. Iron (IL,III) oxide and hydrogen gas / @gT (11, III) 3TTES 3R BIESSH 79
3. Iron (IL,III) oxide and water / <gT (IL1II) 3OS S 3R UM

4. Iron hydroxide and water / Eﬁ'&ﬂ HESIENIFS 3R gt

Correct Answer :-

« Iron (ILIII) oxide and hydrogen gas / 8T (IL,11I) 3TRIZS 3R ERSIOH 19

27) Identify the plant that does not yield fibre. / 3 ng qEﬂTﬁ'({ S =T A qﬁ G %I
1. Palm / dlS

2. Coconut / Tgd

3. Hemp / YT

4. Cotton / dUH

Correct Answer :-

e Palm/dlS

28) Metal compound A reacts with dilute hydrochloric acid to produce effervescence, the gas evolved
during the reaction extinguishes a burning candle. The gas is: / HTq 9f® A Jage- ST HI & T ag
TS IFAING 3 & A1y Afufsrar wwar 21 AfUfhaT F IR IUT N9 TP ysTafera HiHaxdt &1 g3 &l 31 i
T

1. Carbon dioxide /7$|_G¥T‘T 3133173%133



2. Hydrogen / © sglaq
3. Oxygen / NIERiE]

4. Nitrogen / 7‘||$Ej|\_r|:|

Correct Answer :-

e Carbon dioxide /W@s&ﬁaﬂ@

29) Goldsmith blow the outermost zone of a flame with a metallic pipe for melting gold and silver
because it is: / HIF YT Tt HI fUraa@ & T IR ter anfas et & ve Saren & Serad 85 96 40T HId
g i agaare:

1. Least hot / W"'Iff
2. Hottest / AAfI® TH
3. Cold / &&T

4. Moderately hot / JrerRor T

Correct Answer :-

« Hottest / 3 TH

30) The major air pollutant produced when coal is burnt in thermal power station is: / S TR g

H BId $I A R IAIed BT 91 Ugu gl &
1. Methane / H3T
2. Sulphur dioxide / e SIS RITSS

3. Carbon dioxide / BTe SZATRIZS
4, Ozone / GhGﬁ:T

Correct Answer :-

« Sulphur dioxide / TehR SRS



PROFESSIONAL EXAMINATION

{ Professional _ BOARD _
Bbexominotion Police Constable Recruitment Test -
board 2017

14th Sep 2017 03:00PM

Topic:- General Knowledge and Logical Knowledge

1 Some Girls are holding hands. Which girls are holding hands with Jyoti? / DS Sichdl o BRI U&s

BU &1 fobet rsfahal =1 saifd & &/ 9ehs @ &7

At Al A A Pt
| [ | [

Il I

Mona Pota Fiatu Jyota Sona

! Al I 4
[ | L | W | w |

1. Mona, Priti /nﬁ, W
2. Priti, Ritu / Uifd, 3B

3. Ritu, Sona / B, I

4. Mona, Sona /In:ﬂ, T

Correct Answer :-

« Ritu, Sona / 3, T

2) If CARGO is coded OGRAC and TRAIN is coded NIART, then how is RAILWAY coded? / '!T%
CARGO &1 OGRAC ¥ 9T TRAIN B NIART & PHIfSd fFa1 €T 8, a9 RAILWAY &1 $d Hifed
foar s

1. ILWARAY
2. YARILAW
3. YAIRLAW

4. YAWLIAR

Correct Answer :-



e YAWLIAR

3) Kohima is the capital of / ﬂﬁ'%':ﬂ IGi= Kl WﬂF‘ﬁ %:
1. Arunachal Pradesh / 3{SUTEd USRI

2. Sikkim / RyfapH

3. Meghalaya / 2| D)

4. Nagaland / BN

Correct Answer :-

» Nagaland / [ s

4) Find the odd one out: / T faud FTd HIforQ:
6, 12, 36, 144,715,4320

1. 54

2.36

3. 715

4. 144

Correct Answer :-

e 715

5) Find the odd one out: /Wﬁ'ﬂ'ﬂ BUG) aﬂﬁmz:
1. Mathematics and Geometry/T@HHWGﬂT&Iﬁ
2. Teacher and Student / fR1&/& duT &=

3. Air and Oxygen / AT dYl NIERICE]

4, Flower and Petal /%H%ﬂq@?ﬁ

Correct Answer :-
« Teacher and Student / TRT&/@ U1 B

6) If 2006 ends on a Sunday, what day would be 15th January, 2007? / Tf& 2006 IfITR &) JATW BT &,

@ 15 SFa3T 2007 B B T e



1. Tuesday / HITAR
2. Sunday / REEIN
3. Monday / AHaR

4, Wednesday / YR

Correct Answer :-

» Monday / AR

7) The probabilities of Ram, Shyam and Mohan's, clearing an exam is 80 %, 60 % and 50 % respectively.
What is the probability that all of them would clear the exam? / ITH, TATH dYT 1=ﬁ3=r & Udh e H Ihtof
BIH B UTRIS AT BH: 80%, 60% TYUT 50% & 1 T IHY uham A I<hvf g1 s, 9! =1 yiierdr 22

1. 24%
2. 50%
3. 40%

4. 63.33%

Correct Answer :-
o 24%

8) In a certain code language, zee cin com means king was great; cin bana goap means holy great saint;
wisp sean bana means next holy day. Which is the word for saint in that code language? / Th WTH CAE
HTHT ﬁ, zee cin com T 3% king was great; cin bana goap 1 3 of holy great saint YT wisp sean bana 1

313 next holy day BT 8 | 3 BIS UTHT | saint & foTT 5w Teg &1 sxauma forar man 82
1. bana
2. goap
3. wisp

4. cin

Correct Answer :-

9) If MANAGER is coded NZOZHDS, then how is ORGANISATION coded? /qﬁ MANAGER ® NZOZHDS |

PIfsd far SiTar 8, a9 orGANISATION &) Ha Difed fbar SR

1. PQHZOHTHUPM



2. PQHZOHHTUPM
3. PQHZOHTZUHPM

4. PQHZOHZTUHPM

Correct Answer :-

e PQHZOHTZUHPM

10) The jumbled letters of words are given below. Each letter has been numbered. Choose the option which
gives the correct order of the letters as indicated by the numbers to form the words. / T Reg %ﬁlﬁ-\‘g@f

&R - fu 7T § | v SieR &1 wHifed fhar T 81 39 faweu &1 g o wsg & fAatur & forg
=TS §RT 3H&RT & TE HU Bl gTa1 3|

TLPNAE

123456

1.3,2,5,4,6,1
2.3,2,5,4,1,6
3.4,5,3,6,2,1

4.4,6,1,3,5,2

Correct Answer :-

e 3,2,5,4,6,1

11) |hacar exhibition, different cars are placed in a row. A car T is placed at the gth position from right, and
a car His placed at the 10th position from left. If their positions are interchanged, T occupies 17th position
from right and H occupies 18th position from left. How many cars are there in the row? / ¥t HIR 'Fla'ﬁ ﬁ,
R BRI & T IR A T T 81 TP PR T 3 AR A 07 M W AN SR H P 71 3R |
105 =M R T T 21 AR g RIR A sga et R AT L, A e AR A 17T AW
qUT H aTE 3R R 187 WU W g 31 Ufe & frah e 8>

1.29
2.25
3.27

4. 26

Correct Answer :-



12) Who is the first Indian woman cricketer to be included in the Marylebone Cricket Club as its

honorary life member? / B Ugelt mem, reifa fpdbe oaq ot AIFG
ot WG & ¥ § I HI o4 arell 32

1. Smriti Mandanna / Fjﬁf Hedl
2. Anjum Chopra / 3‘|\_gT[ Eﬁ'cltc';f
3. Mithali Raj / fordTef! <1

4. Punam Raut / 1H RAd

Correct Answer :-

« Anjum Chopra / 3S[H EIE]

13) Which one of the following vitamins has a role in blood clotting / Fafafad faefm A 4 =R
whe § fraa yfiret 32

1. Vitamin A / fde1fi T A
2. Vitamin K / faeifiA &
3. Vitamin D / fdeif®¥ D
4. Vitamin B / faeTfé B

Correct Answer :-

« Vitamin K / faeif®m &

14) Which of the Sikh Gurus composed the Zafarnama ? / {3 R = = T BT [T DL 2
1. Guru Ram Das / [ X[HGIY

2. Guru Gobind Singh / = Tifeig g

3. Guru Hargobind / [ FUICEH
4. Guru Nanak / 7= dHH

Correct Answer :-

» Guru Gobind Singh / =1 ifeic Rig

15) Which of the following highways is not a part of the Golden Quadrilateral? / Fafafea A a4

1 YA, Tl Tgyds &1 yrT g 82

1. NH 55/ Q-Ud 55



2.NH 79 /TATT 79

3.NH 2 /T4Ud 2

4. NH 45 / U-Ud 45

Correct Answer :-

« NH 45 /U-Ud 45

16) Which of the following districts does NOT belong to the Malwa region? / Faifead A -1

forem wTerar &= # =l a2
1. Shajapur / RMSITYR

2. Mandla / HTUSHI

3. Dewas / G

4. Ratlam / XccITH

Correct Answer :-

e Mandla / HIUSAI

17) Which of the following is also called the ‘House of Elders’? fFafafaa A a4 eIy &g
Ty Wt wEama g2

1. Vidhan Sabha / [d&m= g1
2. Gram Sabha / UTH HHT
3. Rajya Sabha / XIS JHT

4. Lok Sabha / €lidb gHT

Correct Answer :-

» Rajya Sabha / g JHI

18) The Triveni Sangam at Allahabad, is considered to be the meeting point of which 3 rivers? /

gamgaTg & ol W, 5 3 Al &1 v wie A S R
1. Yamuna, Satluj, Beas / JHTI, ddcgsl, T

2. Ganges, Ravi, Beas / T Tﬁ, iy

3. Ganges, Yamuna, Brahmaputra / ﬁTﬂ, gy, delya

4. Ganges, Yamuna, Saraswati / T, gy, T



Correct Answer :-

o Ganges, Yamuna, Saraswati / T, Yy, Tt

19) The Hornbill Festival is celebrated in December every year in the Indian State of ./ HRd

T # Ud® a¥ feawar # giHfaa A8 Iead IR SITa1 3 |
1. Arunachal Pradesh / 3REUITA TRl

2. Sikkim / f&ifepH

3. Meghalaya / TgTag

4. Nagaland / IS

Correct Answer :-

» Nagaland / -l? s

20) The Bhimbetka Caves and shelters are a ___site./ WfradesT 3t 'ﬂ'tb-l'q 3T 3y Udh
AT

1. UNESCO World Heritage/ g1 fa%y eRIER

2. Modern Architecture/ &HW EIRCaNIl
3. Sacred/ UTH®

4. UNICEF World Heritage/ Z-1 W fa% eRIER

Correct Answer :-

« UNESCO World Heritage/ I fd% tRIgR

21) The Mahatma Gandhi National Marine Park is located in / HgTeHT Tt ?T@'q Wﬂff 3el,
F R

1. Pirotan Island / oA ﬂ'q
2. Port Blair / e <R
3. Rameswaram / Tlﬁ%iw

4. Ganga Sagar Island / T AR g9

Correct Answer :-

e Port Blair / e <R



22) Marathas took power of Madhya Pradesh after the death of / 790 WGXT & fra®! g & dg
RIS A SHfPR U & R

1. Asoka / 3RNHI

2. Aurangzeb / KT

3. Harsha vardhan / Eﬁa@
4. Kanishka / B h

Correct Answer :-

o Aurangzeb / KT

23) Satpura Wildlife Sanctuary is located at / TAYST T-SId AHIARVY Hgl (U 82
1. Hoshangabad / 6 YRS

2. Chhindwara / fd—<d Sl

3. Sindh / R

4. Khajuraho / @\_{RTEPT
Correct Answer :-

» Hoshangabad / 6 DI I

24) The Governor of a State is appointed by the / fEl ITs0 & IsuUTd ® 39% gRT Fga foar
AT &:

1. People of the concerned state / T 59 & AT
2. Chief Minister / G&THAT
3. President / ?quﬁ

4. Prime Minister / THTTHAT

Correct Answer :-

e President / ?quﬁ

25) The ‘National Energy Conservation Day’ is observed every year on / TP Ty ‘?T@'q Sell HRET
feaw S HATAT AT & |

1. 14 December / 14 fSTR

2. 141 November / 14 FdeR



3. 141 October / 14 3R

4. 24" December / 24 ﬁﬂm

Correct Answer :-

« 14 December / 14 T&TwR

26) The state of Meghalaya was carved out of / 5T IS | 3T HIP AU IsT I414T T4T?
1. Manipur / A0TGR
2. West Bengal / Tty ST

3. Assam / 3{H

4. Nagaland / -Il? s

Correct Answer :-

e Assam / 3IH

27) According the Census 2011, which district has the highest literacy rate in Madhya Pradesh? / CL

2011 B} SFRTUAT & SER, 760 U3 § g Rrat & wrarar 9 &3 9 |er 82
1. Indore/_&r'_a?

2. Balaghat / STCITUIC

3. Jabalpur / SISTYR
4. Bhopal / arare

Correct Answer :-

« Jabalpur / SIdcTYR

28) The Right to Education was added to the Fundamental Right in the Constitution of Indian through

the: / HRd & Afqem= & SR Ao siftepr A fren & SifterR S sST aT AT:

1. Constitution (93" Amendment) Act, 2005 / FfAUT (93T TRME) TAFTH, 2005

2. Constitution (87th Amendment) Act ,2003 / FfJUT (87T T=MeH) SAFTH, 2003

3. Constitution (86 Amendment) Act, 2002 / FfAYUT (86T T=MeH) AT, 2002

4. Constitution (97th Amendment) Act, 2011 / Ffaem (97at F=Ne) fAFTH, 2011

Correct Answer :-



« Constitution (86™ Amendment) Act, 2002 / HfaeT (86a1 TRNE) HTAFTH, 2002

29) The dance-drama form of expression, ‘Yakshagana’ is traditionally associated with which state? /

SR BT TH-ATCH T YA WRATT T A f5T 350 A J13?
1. Karnataka / Plch
2. West Bengal / BIEEKHIG

3. Kerala / BYd

4. Maharashtra / HERTY

Correct Answer :-

e Karnataka / EI'FIW

30) Complete the series choosing the missing number: |/ Y& W& BT FEAT BT [T BIFIT:
36,6,49,7,64,8,81, _

1.13

2.10

3.12

4.9

Correct Answer :-

9

31) Select the option that is true about the Statements and Conclusions given:
Statements:

Some vowels are consonants

Some consonants are alphabets

Conclusions:

I. Some vowels are alphabets
II. Some consonants are not alphabets /

39 ey &1 99 P e fou T Hy=Y 3R fep el & ar 3 96 2:
DY

PO TR AV ¢

T e &R T

frepd:



I $O TR 3AEGR &

I, $ o &R TG &

1. neither conclusion I nor conclusion II follows / -1 E?r ﬁﬁh_ﬁl 3'ﬁ? Cl ?3[ ﬁmﬂf IS SR GG %
2. both conclusion I and II follows / F5HY I 3R 11 g1 ST IRA G

3. only conclusion II follows / $Had FpY 11 STFHRUT hdl g

4. only conclusion I follows / Had Y | SRV pdl g

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B FshY 1 3R 7 81 FshY 11 3[IXRUI Hd &

32) Indian is the most populous nation in the world. / HIRd, ﬁ’H | I Sifire Gflﬁ'lﬂ
TP 7

1. 3% =y
2. 4ty T

3.2 qERT

4, 5th/ gi=ar

Correct Answer :-

33) Complete the series choosing the missing letters: / U &R SH&RY Bl EGEZELERI Ca| g PifoTg:
AZC,BYD,CXE,

1. DVF

2. DWE

3. DWG

4. DWF

Correct Answer :-

e DWF

34) Complete the series choosing the missing number: / ol J&HAT AP @l Gl qrT PifoTg:

7,10, 15, 22, 31,



1. 45
2.40
3.42

4. 39

Correct Answer :-

e 42

35) Complete the series choosing the missing number: / o J&AT JADX &l G| Ul PIfoTC:

67,62,56,49,41,
1.28
2.36
3.32

4. 30

Correct Answer :-

36) The series given below contains a sequence of numbers. Identify the incorrect combination: / H= ﬁ Tlg

s §, T=asil &1 U B IURRI &1 Tad el Uganf-e:

3,6,5,18,7,42,9,162
1.6

2.162

3.42

4. 18

Correct Answer :-
o 42

37) In a certain code koda se poda means house full movie and dam cas koda means full of life
.Which is the word for fullin that language? / T% WTH HIS VT H, koda se poda &1 34 house



full movie aYT dam cas koda 1 3 full of life RYAT B 1 $H B MV | fullS fore fry 2reg &1

STIATA forar T 82
1. koda

2. dam

3. kas

4. poda

Correct Answer :-
o koda

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some buds are flowers
Some flowers are shrubs

Conclusions:
I. Some flowers are not shrubs
I1I. Some buds are not flowers /

S faped &1 99 Fiforg e iy e Hy=1 iR fswel & av § 98t &

BY:

P Bl ga §

e

I. $© §d FIfsar 781 §

II. $O Pforal T 781 §

1. neither conclusion I nor conclusion II follows / 7 &1 f5HY 1 3R 7 & FAsH 11 SR & §
2. both conclusion I and II follows / fISH Y I 3R 11 GFI SR B &

3. only conclusion II follows / Had fISHY 11 SITTRUN Hal &

4. only conclusion I follows / A T5HY I SFIHRUT HaT §

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / = _Eﬁ ﬁ'@b_él G?IT «J 33[ ﬁEﬁﬁ 1T 3AFIRT GG %

39) Select the option that is true about the Statements and Conclusions given:



Statements:
Some ants are mosquitoes
Some ants are spiders

Conclusions:
I. Some mosquitoes are not spiders
I1. Some mosquitoes are spiders /

S fapea &1 99 P e iy e Hy=1 ok fewel & v § T3t &:

Y

PO difeal Ao §

e

I $O TR UhS! 81 &

II. $© TR Udhs! &

1. both conclusion I and II follows / F5HY 1 3R 11 G SIXRUI HRd §

2. only conclusion II follows / Had fISHY 11 SFIHRUT HXal §

3. only conclusion I follows / Had SR [ 3IERUI HRT §

4, either conclusion I or conclusion II follows/ a7t FSH 1 374aT fISHT 11 SITERUN el &

Correct Answer :-

« either conclusion I or conclusion II follows/ TT dl fI5hY 1 34T fIsp Y 11 &WW%

40) Select the option that is true about the Statements and Conclusions given:

Statements:
All juices are drinks
Some drinks are beverages

Conclusions:
I. Some juices are beverages
II. Some beverages are juices /

I fapeu &1 7u Fifore I fiw e Hy=1 ok fewsf & IR d Tdt 8:
DY:

SRIEUNCL

EEACERE

e

LS THNE



IIL. $O WIS &

1. neither conclusion I nor conclusion II follows / = Eﬁ sy 1 3R T Tzﬁ fAspd 11 SR XA %
2. both conclusion I and II follows / fIsH Y 1 3R 11 G ST Hd %

3. only conclusion II follows / FHad (B 11 STTARUT HdT %

4. only conclusion I follows / Had Iy 1 IR HdT ?

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 fspd 1 3R g fsp 11 IR0 GG %

Topic:- Mental Ability and Mental Aptitude

1
) In the sequence shown below, which figure comes next? /=i 3 e

el #, 3aTell WP FieT T 3

DD D@

<
%

Correct Answer :-



2
) In the sequence shown below, which figure comes next? / A=l

fedr T A #, IETel 3P Hier dr 3RED

e ) 8 ?

Correct Answer :-

0

3) Ifthef ollowing two squares shown below overlap, which one of

the following options is formed? / ATE TaF &1 A Jrfgenag
gid o e F ¥ <l 91w gy 9aar &7



Correct Answer :-

4) The Product of ages of Naman and Aman are 120. If the age of Naman is more than the age of Aman
by 2 years. Find Aman’s age. / T 3R 3[H- P 3T BT UG 120 g1 TS 70 B 3T, 30T Bt
AT A 2 79 AP 7| Y 3T Y 3y fhait B2

1. 10
2. 11
3.3

4.13

Correct Answer :-

10



5) In a class of 40 students comprising of 20 girls and 20 boys, the average age of 20 girls is 16. The
average age of the class is also 16. Find the average age of the boys in the class? / 40 ?ﬁﬁﬁw DEIT H
20 TSP 3R 20 TSfHai &, 20 AUl F T MY 16 T 31 3R Twyuf Hem Y e amy ot 16
99 3| ASHI DI 3ATY PT AJUTT JTd PHOTL?

1. l6years / 16 T4
2. 14 years / 1479
3. 12years /12 T

4. 10years /10 T

Correct Answer :-

e l6years/ 16 I

6) A person walks a certain distance and rides back taking a total time of 37 min. He could walk both ways

in 55 min. How long would it take him to ride both ways?/wﬁmﬁﬁagﬁﬁw&ﬁ!ﬁ

TAB 3R GO 3R & fopelt Ward} ot weg 9 37 fire o T &= 9odar 31 a1 3R A Tas 331 it

%ﬁissﬁfﬂiﬂﬂwm%lWﬁaﬁ&hﬁmﬁmﬁ?ﬁaﬁgﬁWWﬁ@
q9Y ?

1. 72 minute / 72 f&Fe
2. 40 minute / 40 e
3. 19 minute / 19 e

4. 92 minute / 92 fAFTE

Correct Answer :-

« 19 minute / 19 fAFE

7) 217 *217 + 183 * 183 =?
1. 80578

2. 90868

3. 79699

4. 81258

Correct Answer :-

e 80578



8) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was 34. The
present ages of father and son respectively are , respectively. / foar sk E] Gl ST BT ONRT 45 9
21 5 af gd, far iR I &Y 3mg &1 U 34 AT F¥aT 3R O3 Ft adur omyg swar: fra 82

1. 40 and 5/40 3R 5
2.36.and 9/36 3R 9
3.39 and 6 /39 3R 6

4.38and 7/38 3R 7

Correct Answer :-

e 39and 6/39 3 6

9) Fifteen years ago, Ramesh was half of Suresh in age. If the ratio of their present ages is 4 : 5, what will be

the total of their present ages? / 15 atfqu‘, Tﬁ'ﬂaﬁ&ﬂ'ﬁﬁ%ﬂﬂﬁ engaﬁamﬁ &t gfe 3@t adu=
TG BT ST 4:5 8 A SAP! TAHT Y BT TNT FIT FRI?

1. 45 years / 45 G
2. 55 years / 55 CL
3. 35 years / 35 CL

4. 65 years / 65 CL

Correct Answer :-

e 45 years /45 CL

10) The present ages of three persons are in proportions 4 : 7 : 9. Eight years ago, the sum of their ages was

56. Find their present ages (in years). /?ﬂqmaﬂméﬂ'ﬂﬁm4:7:9%| Saﬁq\ém
TG BT AT 56 YTI AP adH Mg a9 | foba-it gil?

1.8, 20, 28
2. 16, 28, 36

3. 20, 35, 45

4. none of these / 3_*@ I aﬂs‘ :lg"[
Correct Answer :-
e 16, 28, 36

11) virat Kohli has an average score of 64 in last 30 matches. After the last match his average became 63.

What is his match score?/ﬁ%ﬁmﬁ?ﬁﬁﬁﬂfmmmﬁ’ﬁ?MW%,Gﬁﬁaﬂﬁw



3 63 B TATI S A | I fha=11 ¥R 9912
1.1

2.127

3.33

4. 34

Correct Answer :-
e 33

12) A trader had 100 kg of sugar, part of which he sold at 8 % profit and the remaining at 18 % profit. He
gained 10 % on the whole transaction. How much did he sell for an 18 % profit? / Th HTIR & U 100
o i+ i ForTeT 7o a1 8% & a1H IR 991 14T 8, T Bl 18% & A1H U 997 T | ST gIRT
T B ATH 10% & | fha-i D & 3T 18% & ATH WR ST R?

1. 50 kg / 50 T3
2.70kg/ 70 Y
3.20 kg /20 fum

4.30kg /30 fum

Correct Answer :-

« 20kg /20 foouT

13) Speed of a boat in upstream is 13 kmph while downstream is 5 kmph. What is the speed of the boat in

still water? / YRT @1 faudid fe=wn # v =19 &t 91et 13 fpi/ber g wafe T S e A e Fiama s
fopft/deT 31 FRRwa | =19 91 91a fpa gifi?

1. 8 km/hr / 8 TopHI/deT
2. 9 km/hr / 9 fBHI/der
3. 20 km/hr / 20 fHI/EeT

4. 18 km/hr / 18 T HI/deT

Correct Answer :-
« 9 km/hr /9 fopH/EeT

14) A 120 m long train is moving at a speed of 54 kmph. How long will it take to cross another train, 200 m

long, moving in same direction at a speed of 90 kmph? / Tdh 120 ez awt a:l 54 fpii/ae Sl ara A 99



Yol 81 54 fo=m & 90 frwl/de &t are | 31 I8 U 200 WX @t ¢ 38 UR &34 | fha-r awg

1.85ec/8@f.
2.12sec/ 12 '@f
3.25ec/2@.

4,32sec/32 @

Correct Answer :-

e 32sec/32 '@f

15) In an examination, a student scored an average of 71 marks per paper. If only he had scored seven more
marks in Physics and five more marks in Sanskrit, then, he would have obtained an average of 73 marks.
How many papers were there in the examination? / Tdh et ﬁ, Udh BT 3N 71 3P TP UYTT |
Trar 81 afe 3R Hifas fage ¥ 7 oid i Sk Wvgpd | 5 9w 3ifte Frd ot U gRT ue Sieh)
BT 3T 73 B ST | we ® fa vy wmfde 82

1.6
2.7
3.5

4.8

Correct Answer :-

e 6

16) Twenty years ago, Ram was half of Sam in age. If the ratio of their present ages is 3 : 4, find the Ram's

and Sam's present ages./ZOﬁUﬁ,WﬂﬁsﬁﬁmﬂﬂGﬂ'ﬁaﬁGﬂiﬁ 41 afe Tt adu™ STY T
ST 3:4 § d1 39 3R 49 B adaT 3y fa-it 32

1. 30, 40
2. 40, 30
3.30,20

4. 20, 30

Correct Answer :-



Which one of the following four addresses is NOT EXACTLY same as the one given below? /

PR M IR W@ TI R RN @S e gaa I Tes T8

Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(i) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(i) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(iii) Darren Johnson
Dick Collins Hall,

Redhill 51 Street NW11

(iv) Darren Johnson
Dick Collims Hall,

Redhill 51 Street NW11
1. iv

2.1

3.1ii

4. iii

Correct Answer :-

o iv

18) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 9 &} 1 gRaa #, &Y 3R Tw=3il ®1 v HH fAfgd €| Tera Y ugnfAe:

i.juklf0215flkuj



ii.juklf0215fkuj
iii.juklf0215fkuj

iv.juklf0215flkvj

4. iii

Correct Answer :-

19) Find the average. 13iad FRreferd |
3,9,15,25,35&45

1.26

2.20

3.24

4. 22

Correct Answer :-

o 22

20) The diagonals of a rhombus are 10 cm and 24 cm long. How much would its side measure? / WW@‘HW

& fawut 10 A, 3R 24 T T B 1 TS Yo F AvETs T BRI
1. 17cm / 17 JH.
2. 18cm / 18 GHI.
3.13 cm /13 T4,

4. 26cm / 26 THY,

Correct Answer :-

e 13 cm/13@7:ﬂ.

21) One type of acid is 80 % pure. Another type of acid is 95 % pure. In a beaker, both the acids are takenin2:3
ratio, respectively. What is the percentage strength of the resulting mixture? / T 31 i R[&dT 80% %, QT



3% 95% X[ o | TP SIB |, G 3l bl ShHRT: 2:3 & JUTd | T STl 81 59 Y Y01 BT Yegar
wfa=ra fam g

1.90 %
2.86%
3.89%

4.85%

Correct Answer :-
e 89%

22) A room in a house measures 5 m in height and its length is 3 times its breadth. The cost of whitewashing its
four walls at Rs. 2.50 per sq m is Rs. 200. What is the cost of carpeting the floor at Rs. 5 per sq m? / WW'&

TH T D SIS 5 Uiex § 3R TP AT D! FISTS B dIF T 8| TAB! IRI SIaRI DI Yarg b1
gz.somuﬁraﬁlﬂaaﬁa?ﬁzoo?:@%l TP B3 W 5 YA/ Hiex B X A HRUC fav™ &1
o smaam?

1. Rs. 60 / 60 ST

2. Rs. 50 / 50 U
3.Rs. 72/ 72 300

4, Rs. 84 / 84 3UY

Correct Answer :-

e Rs.60/60 30

23) Sudha is reading a 445 page book. She has already read 157 pages. If she reads 24 pages a day, how many
days will it take for her to finish the book? / T 445 U8 @ T fard ug 31 81 98 3Ed® 157 Y8 U P!
21 afe 9% 24 Yy wfafes ved ? 9t & frara T w3 o I famn wwa @

1. 12 days /12 f&7
2. 15 days / 15 &
3. 10 days / 10 faA

4,19 days / 19 fa

Correct Answer :-

« 12days/ 12 faq

24)



A's salary is 60% more than B's salary. If A got a raise of 40% on his salary and B got a raise of 20%, then by what

percent is A's salary more than B's? / A BT AdT B H Ad4 H 60% Glﬁlﬂ?%l ﬂ%Aa?a'd:[ﬁw%ﬁéﬁ?B%
T A 20% B! Ferad) P A @ @ A BT TAHH a4, B b da4 A foraq ufa=ra siffre ghme

1. 86.66%
2.92.33%
3.98.33%

4.95.11%

Correct Answer :-

e 86.66%

25) Asells a table at a profit of 15 % to B, who in turn sells it back to A at a profit of 20 %; thereby gaining Rs. 69.
How much had A paid for the table originally? / A TP A B 15% & AH TR B aﬁéir%?nél B 3@'37{ AP
20% & ATY TR 99 a7 8 ForTd 39 69 0 e €1 A 7 Joamd # A9 fra 3ud # @il e

1. Rs. 300 / 300 TA
2. Rs. 500/ 500 ST
3. Rs. 800/ 800 ST

4. Rs. 400/ 400 SUY

Correct Answer :-

e Rs.300/300 300

26) Due to an increase of 25 % in the price of eggs, 4 eggs less are available for Rs. 20. The present rate of eggs

per dozen is: / 38 I BT A 25% DI i & PRI, 20 TUA H 39 Ugd & 4 33 $U Ferd T TP goiA
3[US| B gIH A BT R 82

1. Rs. 15/ 15 30
2.Rs.18/ 18 TUY

3. Rs. 20 /20 34T
4.Rs.10/ 103U

Correct Answer :-

e Rs.15/15 30

27) Of 375 customers of a cafe, 75 ordered tea and 300 ordered coffee. What is the ratio between tea drinkers to

coffee drinkers?/@%%ﬂsmﬁﬁﬁ, 75%“@?300%ﬁ'ﬁ${3ﬁm| il'l'ﬂ‘ﬂ%a'l?ﬁ@ﬁ?



PIWT G Tl BT SFUTd AT 32
1.1:4
2.4:3
3.2:4

4.4:1

Correct Answer :-

28) By selling an article for Rs. 480, Natwarlal gains 20 % on the cost price. At what price should he sell it to
obtain a gain of 30 %? / fo<lt g BT 480 TUT | I TR TeadTd B! TG oI W 20% BT AT FAraar 21
30% ATH A & e I It axg @1 fra=t vud & s==m ghmm?

1. Rs. 520 / 520 300
2. Rs. 320/ 320 S0
3. Rs. 420/ 420 30

4. Rs. 120/ 120 348

Correct Answer :-

e Rs. 520 /520 30

29) Two persons, A and B together can do a piece of work in 15 days. After working together
for 5 days, A leaves and B alone completes the remaining work in 16 days. What is the ratio
of the number of days taken by A and B to do the work separately? / | GT%[, A 3R B fdt
PTH B THITY 15 fe7 A #d €1 5 e 1Y FH F1 & 918, A FTH BIS T 8, AV HTH P B 3dell
16 RA A W HR U1 81 A 3R B GRT SET-3ENT HTH H A A 16 THY BT ST g

1.2:5
2.3:5
3.5:2

4.5:3

Correct Answer :-

e 5:3

30) Find the sum of the series:

14447 +10+13+16+ 19+ 22 + .oooeooot 40 / YGAT 1+4+7+10+13+16+19+22+..........+40 BT AT GIIT:



1. 287
2. 199
3. 207

4. 256

Correct Answer :-

e 287

Topic:- Science and Simple Arithmetic

1) Find the remainder when 14x2 — 29xy — 18y2is divided by (2x — 5y). /STd 14x% — 29xy — 18y?
&I (2x — 5y) cdiT fdefard foham ST & df duwe FAd i

3y’

Findx® 43, ifx+y=3andxy=2. / TG x+y=3 F xy =2 @l x¥ +y? AT S

1.6
2. 15
3.9

4. 12

Correct Answer :-

3) The cube mot of the number —250.047 is: / TEAT —250.047 T HeAHel &



1. Positive or negative / YdTdHD T BUITHD

2. None of the above / SRIGd & I Ob\lsr 3_6&
3. Always negative / ged BUTHS

4. Always positive / g YD

Correct Answer :-

« Always negative /ﬂ%w

4)
O =@ @
= :H: = - = =
5 5 5
1s
1. 125
3z
25
2.
3, 1s
5
25
4.
Correct Answer :-
25
25
5) Inapanllelogram ABCD, if £4 = 40°,then £C = ./ W& WA Idd ABCD,# afg

£A=40°,T £2C=

240
1.

407
2.

s0°
3.

140"



Correct Answer :-

407

6) Fe + HCl —— = ? +H

1. Ferric hydride / HRe EESIES]
2. Ferric chloride /Wm

3. Chlorine / TR
4. Ferrous chloride /WH@ITIEG

Correct Answer :-

e Ferrous chloride /Wm

7) Which of the following is a natural magnet? / faddsnee W‘?ﬁ? qJH P %?
1. Bar magnet / S P

2. Magnetic needle / W{[’s‘

3. Lodestone / gHI® TR

4. Electromagnet / 3@?{ Y h

Correct Answer :-

» Lodestone / gHd YRR

8) Ravi’s income was Rs. 60000 per month. A pie chart is made to express his expenses in different
purposes and his savings. He saves Rs. 12000 every month. What angle will his savings represent in the

pie chart? / I3 B} 3T 60000 TUA ufer AT A | fafdra Sezal & ST @l 3R TS| I9d & AT
P & T U guds YT S917 74T § | 98 Ufd HIE 12000 $UA B §9d HRAT 8 | UGS
I@TRE | B A1 S0 TSB! Tad DI UG RId Hm?

367
1.

F2T
2.

30°

60



Correct Answer :-

T2y

9) What is the area of the largest square inscribed in a circle of radius S5cm? / 5 I+t 31 Brsar ara Udh

99 U I 1V 99 98 I BT &A% d fha-r 82
1. 25 sq cm / 25 ¥ Ut

2. 100 sq cm / 100 I T

3. 150 sq cm / 150 7 9

4. 50 sq cm / 50 T Y

Correct Answer :-

. SOsqcm/Soanﬁ

10) Impression of an image persists in the retina for: | efeyed &I%_"IT) ﬁwﬁrﬁaﬁwmﬁrﬁﬂ

1. 1/12% of a second / T VHS & 1/12 HTT P P fow
2. 1/16M of a second / T HS & 1/16 HIT ddb & feIw
3. 1/10™ of a second / T VS & 1/10 HRT T & faw

4. 1/8™ of a second / Th Vb S & 1/8 HIT ddb & forw

Correct Answer :-

e 1/16Mofa second/@@ﬁ% 1/16 WTW%%’Q

11) If perimeter of a circle is 22 cm, then its area is: /'CI'% qd dl uf¥amg 22 9+t %, a7 E-AW % :
1.38.5 sq cm / 38.5 O JHT

2.40sq cm/405|7f@7:ﬁ

3.38 sqcm/SSGﬁQﬁf

4.37.5sqcm /37.5 a0 IHT

Correct Answer :-

e 38.5sqcm /385 aﬁ@tﬁ



12) If square of a number is 484, then the number is: / UI%Q?T AT T a7 484 %, GLEGEC: | % :
1. 28
2.24
3.21

4. 22

Correct Answer :-
« 22

13) The surface area of a cube is 96 sq cm, then its volume is: / TP U PT qﬁ’m {‘HW 96 gt TAHY %,
o SAPT AAAT 8 -

1. 48 cucm/48‘5|:f@'5ﬁ
2. 256 cu cm/256‘€l:fﬁ'5ﬁ
3.16 cucm/16‘€I:f@Tﬂ

4. 64 cucm/64‘€|7‘fﬁ'£ﬂ

Correct Answer :-

. 64cucm/64‘€l:f®fﬁ

14) The length of one side of a rhombus is 20 m, then its perimeter is: / mﬂ\_ﬂ PP YT L4

g 20 HieR §, O SHSTURATI 7 :
1. 160 m / 160 HIcX

2. 100 m / 100 HIR

3.40 m / 40 HicR

4. 80 m / 80 HIcR

Correct Answer :-

« 80m/80HIER

15) In a parallelogram, adjacent angles are: / U JHIAR ilﬂ'l;IW T, 3T BT %
1. All the above / G’C@ER‘[ Tt

2. Supplementary / W

3. Complementary / b



4. Equal / FHIH

Correct Answer :-

» Supplementary / W

16) Which one of the following elements does NOT belong to phloem? / ff=dAa aﬁqmwwﬁ@ﬁ
Heiftra T &2

1. Phloem parenchyma / TITH Hgad
2. Tracheids /aaﬂ:c;

3. Sieve tubes / AT AfCIHTY

4. Companion cells /Waﬁw

Correct Answer :-

« Tracheids / CHIS

17) Which one of the following diseases does NOT require use of antibiotics? fFadafEaITd

TAETEIRP BT IUTGRT $IA P ITaTgHa1 781 gl 22
1. Typhoid / CISWIg S

2. Tuberculosis / &R

3. Malaria / HQIRAT

4. Diarrhoea / @&

Correct Answer :-

« Malaria / FARAT

18) Which one of the following animals is not grouped under the class Aves? / fadafea ugy Ca| Eﬁﬁ
o1 & sienfa qyfed T8 fpar man @2

1. Pigeon / g}
2. Bat / JHITIGS
3. Sparrow / T

4. Crow / dIdh

Correct Answer :-

e Bat/dJHIIGS



19) Pick out the status of “cell ' from the following . /A A @ wifRmer &t fRAR &1 999 31
1. Molecule / 3]
2. Building block / ¥a% T8 (fafET sdlih

3. Organ / 37
4. Atom / UIHTIY] (UCH)

Correct Answer :-

o Building block / 3dh TS (@%’TW

20) Rearing and breeding of country birds is called . /EITWQ’f&I’*ﬁ (ib_gﬁﬁl%‘) BT UTA--UIy 0T Td
PEEE FEArT 8|

1. Dairy farming/@ﬂ'@?ﬁ
2. Pisciculture / H&IUTAA

3. Poultry farming/H”ﬂ:CIW

4. Apiculture / TYHSE! TTeiH

Correct Answer :-

e Poultry farming/H”ﬂ:CIW

21) Which of the following damages the ozone layer of atmosphere? fFrafafaada CaC| HTQTI?;@TI 3=
YA B JHA UgTTdT 82

1. Chlorofluorocarbons (CFC) | FARTGARIBTS (m
2. Sulphur dioxide / TeHR SRIHRIZS

3. Carbon dioxide / BTe SIZAHFIATSS

4. Nitrogen dioxide / AT IOl SIS3HIFAZS

Correct Answer :-

¢ Chlorofluorocarbons (CFC) | FARIGARIBTE @'Q'W)

22) Skeletal structure surrounding the chest cavity is called . /E'IT'ﬁ'ﬂETQT STUTH B HHTd
T B ST T 81

1. lung cover/mw



2. rib cage / g fUSR
3. chest bone /Eé'l?ﬁﬁﬁgf

4. chest cover / BTdl ®Hax

Correct Answer :-

e rib cage / Ol fUSR

23) A normal human ear can tolerate sounds up to: / T% HH HIFG BT g1 JHT 9P Bt
@il Tgd B gPal 8

1. 190 decibels / 190 SR
2. 220 decibels / 220 ST
3. 80 decibels / 80 ST

4. 160 decibels / 160 ST

Correct Answer :-

o 80 decibels / 80 SIITd

24) Identify the food item that is NOT formed as a result of fermentation. / 39 Wi¢d arft
P ygaTe ot fpvaa & yRumaa=y g} a1 |

1. Cake &b/

2. Cooking of rice / dTdcl UhT-l
3. Alcohol / TeabigIdl

4. Bread / 88

Correct Answer :-
« Cooking of rice / dTdc UahT-l

25) Plant with multiple sets of chromosomes is called . / Tter o 1IUI'\‘3§ﬁ &
JEHY=d Eld § 39 g1 1T 1

1. haploid / 3fTford
2. polyploid / SgTfOrd
3. triploid / AforG
4. diploid / fgifora




Correct Answer :-

« polyploid / ST

26) We need to conserve Biodiversity because it: / g Sig fafduar &) Wi w31 P oRa 8
P g8:

1. Helps in hunting of animals / SHRI & FRIHR § Aee Har g
2. Helps in global warming / T@I§ el It & Aeg exar g

3. Helps in rapid urbanization / il & TFRIBRUN & TG Bl &

4. Maintains forest reserves / 9 @1 XoTd IH1E 3Gl %

Correct Answer :-

o Maintains forest reserves / I 1 fora a:mz WG dl %

27) A simple pendulum takes 20s to complete 40 oscillations. What is the time period of the pendulum? / Th

TR AP 40 I D1 T HA & [T 20 YhS BT AT AT 8 | AP D1 JHY 3afy 74132
1.2s

2. 8s

3. 1/4s

4, 1/2s

Correct Answer :-

28) What sum invested for 1 years compounded half yearly at the rate of 4% pa amounts to Rs.

1326512 / 1 99 & forg fra=it y==TiRr o1 fAa=r fooar ar 31 =) {6 42 yfaad &1 g W o arfitfe
T B W 132651 FUA Bl 82

1. Rs. 152000 / 152000 3T
2. Rs. 115000 / 115000 3T
3. Rs. 125000 / 125000 ST

4. Rs. 75000 / 75000 ST

Correct Answer :-

« Rs. 125000 / 125000 ST



29) 10% of a number is 63, then the number is: / Wﬁ'@ﬂﬁ 10%, 63 % ?ﬁ'\‘i@T% :
1. 6300

2. 630

3.0.63

4.6.3

Correct Answer :-
e 630

30) A coat was sold by a shop keeper at a gain of 5%. If it had been sold for Rs. 1650 less, he would
have suffered a loss of 5%. Then its cost price is: / TP gHTAGR gRTTH PIC B 5% &S ATH UR 9T
TIT AT AfE I 1650 YA FH W 99T AT Al GHFIGR B 5% B A 8 SAeil | 3BT 969 T4 8-

1. Rs. 16000 / 16000 ¥TT
2. Rs. 16500 / 16500 ST
3. Rs. 15000 / 15000 ST

4. Rs. 15600 / 15600 ST

Correct Answer :-

« Rs. 16500 / 16500 ST



